(inelco
grinders

Truncator module

Exploded-view drawings of spare parts to Truncator (and Truncator-S)

Pos. Item No. Qty. | Description

1 44490517 |1 Grinding disc for truncating

2 44520009 |1 Packing ring for inspection cover

3 41530540 |1 Washer @5x30 mm

4 44496525 |1 Screw 5x25mm left-hand stainless

5 44490910 |1 Frame for truncator

6 40320410 | 4 Retaining screw M4x10 PH Torx A2

7 44470224 |1 O-ring @24x2 mm

8 44523010 |1 Eccentric guide /44523011: Eccentric guide for Truncator-S
9 44523005 |1 Lock for eccentric guide

10 44520048 | 1 Locknut

11a 44520004 | 1 Tightening screw

11b 44470124 |1 Rubber pack (membrane), @25 mm

11c 44520027 |1 Bronze bearing Outward /44521027: bearing for Truncator-S
11d 40310404 | 1 Pointed screw M4x6

12 44510290 | 1 Inspection cover

13 44523015 | 1 Housing for stick-out adjustment

14 44523020 |1 Bolt for stick-out /44523021: Bolt f. stick-out for Truncator-S
15 40110406 | 2 Screw M4x6 mm

| info@inelco-grinders.com | www.inelco-grinders.com | Denmark |




